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11 0.0 | 27.3 | 54.5 | 72.7 | 45.5 | 27.3 0.0 | 18. 0. 9.1 9.1 0. 9.1 0. 0.
21| 19.0 | 14.3 | 19.0 | 85.7 | 66.7 | 28.6 0.0 0. 9. 0.0 | 19.0 9. 0.0 0. 0.
198 | 18.2 | 16.2 | 21.2 | 73.2 | 50.0 | 15.7 6.1 7. 7. 2.0 22.2 4. 7.6 2. 3.
8| 50.0 0.0 | 25.0 | 75.0 | 12.5 | 37.5 0.0 0. 0. 25.0 | 12.5 0. 12.5 0. 12.
91| 17.6 | 24.2 | 28.6 | 57.1 | 54.9 | 17.6 3.3 5. 4. 4.4 1 13.2 5. 6.6 0. 8.
10 | 10.0 | 40.0 | 20.0 | 70.0 | 20.0 | 10.0 | 20.0 | 10. 0. 0.0 | 20.0 ] 20. 20.0 0. 0.
162 | 22.8 | 27.8 | 27.8 | 63.6 | 30.9 | 22.2 2.5 4. 6. 3.7 | 14.8 | 10. 7.4 3. 1.
19| 10.5 | 47.4| 26.3 | 73.7 | 31.6 | 42.1 5.3 0. 5. 0.0 21.1 5. 0.0 0. 0.
23 | 21.7 | 30.4 | 30.4 | 65.2 | 21.7 | 21.7 4.3 0. 4. 0.0 | 21.7 ] 13. 4.3 0. 4.
33| 15.2 | 21.2 | 33.3 | 66.7 | 33.3 | 24.2 9.1 3. 6. 3.0 12.1 6. 9.1 0. 3.
1 1100.0 0.0 0.0 0.0 0.0 0.0 0.0 0. 0. 0.0 0.0 0. 0.0 0. 0.
8 0.0 | 12.5] 25.0 | 50.0 [ 50.0 | 25.0 0.0 0. 12. 12.5 | 25.0 0. 25.0 0. 12.
130 | 23.8 | 36.9 | 28.5 | 53.8 | 47.7 | 13.1 3.1 8. 3. 3.1 13.8 6. 3.1 0. 7.
2 8.3 | 41.7 | 25.0 | 50.0 | 66.7 8.3 0.0 0. 0. 8.3 | 25.0 0. 0.0 0. 16.
42.0
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80 60 40 20 O 0 20 40 60 80
(3LAK)— L (3LA%)

1 1
18.8 241
155 21.0

16.0 215
19.1 31.3

255 30.0
29.3 28.5

N=650 13K N=474
0.9 13
A N=549 13 |18 A N=390
106 F 105
44 4.6
16.7 11.1
7.7 6.5
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(MA%)

=549
390

N
N

43.6

31.3

42.1

29.3

36.2

29.7

30.8
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(VA%

[ 20
A 30
M 40
B so
[-] 60

(N=51)
(N=99)
(N=81)
(N=84)
(N=233)
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[l - 1 ] (MA%)

(N=30)
(N=55)
(N=55)
(N=56)
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